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Microwave Engineering  

HW-01a Solutions (10 points each) 

 

1. Express 2 6
3 4

j
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 in the polar coordinates. 

(Answer) Use the Android program 'PowerCalc'. 
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2. For express 2 6
3 4

j
j




 in the polar coordinates. 

(Answer) Use the Android program 'PowerCalc'. 
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3. Find the current I in the following circuit. 

  
(Answer) 
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4. Finc the input impedance Zin in the following circuit. 
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(Answer) 

Method 1: 
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Method 2:  
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5. Finc the input reflection coefficient Γin in the following circuit. 

  
(Answer) 
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